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9140 %%#ﬁm 00[FJLT> 1 1,000 1 1 1
92[~NFH> 70 208,590 3 67 2 2 1 2 77 62 7 6 5 80
400[R B 1 22 1 1 1 1
AT[RIVLFILTER 14 28,880 2] 1o 5] 1 1 1 1 1 1 1 24 ] 2 1 1 1 16
674|FFSEFOTSY 1 1,200 1 1 1 1 2
&% 239 503332] 2] 14] 215] 10| 6] 2] 2 2 2 2 5] 7] 8] 277 202] 25] 2 23] 19] 1 272
A7OINEBRVZOKAMEE 1 450 1 1 1
33| AR 1,000 1 1 1
53| TFILRUEY 25432 1 1 4 1 1 3 2 2 7
N ES 1 98,347 1 2] 16| 1 1 1 2 14 2 115 22
127]0amiL L 16 49,471 1 16 17 16 1 1 1 1
INLERUZDIEEY 51 1 1
SHrnoo~tEy 1,600 1 1 1
BIEAFLY 1 42,480 2 11 2 2 17 1 10 2 2 1 1
213[N, N=SAFLF EFFEF 2 10,400 2 2 2 2
230N = (1. 3‘—:‘{;‘2':»7“9'-)1;) —N' —7z=)L—/3\5 1 160 1 1 1 1
— =LV TEY
232|N, N=SAF)LIRILL TSR 1 1,400 1 1 1 1
240|RFL > 1 5,400 1 1 1 1
3| FAA XU 3 4] 36 1 1 8 4 1 12 20 1 3
62| 7RSOOI FLY 40 1
—— 00[F)L T 2 426,692 1 3| 27 2 2 1 3 120 o 1 1 1 3
9210 Efﬁﬂ‘?‘ﬂ 309 =v T LIEED 1 560 1 1 1 1
Sb 14 3oL KZERUZ DK BER 2 3,100 2l 1 1 1 4
92[~NFH 39 134,518 4 38 3 1 49 1] 2 o 1 17 48
400| RSB~ 4 9,802 1 3 1 7 2 2 6
405[[F5FILEY 1 1.0 1 1 1 1
A1 [RILLTILTER 9,160 5 5 5 1
412|RVAVRUVZDIEEY 24 1 1 1
438[AFILFIELY 71 1 2 3 1 1 1
A48[AFLUER (4, 1—=T1=L) =AY THR—F 1 580 1 1
o> ZanFHT 340 1
T[RAET VR 2,300] 1 1
8RR TF Ly 0.5 1 1
674[TRSEFETSY 5 8,300 1 5[ 1 1 8 5 1 6
691[F)AFILRE 5 76544 1 1 4 1 1 8 4 2 2 8
731 [~TE 7 5,661 6 1 7 5[ 1 2 8
746|N—AF)L—2—FOYF> 3 34,810 3 3 3 3
[&&t 206 949,495] 41] 23] 144] 17] 13 1 1 i1 8 6 255] 5] 139] 31| 7 28] 39] 2] 251
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